SIMILAR SHAPES
Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

1.

14 Here are two squares, A and B.

B

The length of each side of square B 15 4cm greater than the length of each side of square A
The area of square B is 70cm® greater than the area of square A.

Find the area of square B.
Give your answer correct to 3 sigmaficant figures.
You must show all vour werking.

(Total for Question 14 is 4 marks)
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2.

-



7 Here are two rectangles.

OR = |0cm
BC=pP0

The perimeter of ABCD is 26em
The area of PORS 5 43 cm?

Find the length of AR,

{ Total for Cuestion T ks 4 marks)
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3.

[Hi]



13 Here are two sinular solid shapes.

A B

surface area of shape A surface area of shape B=3:4
The volume of shape B is 10cm’

Work out the volume of shape A.
(iive vour answer correct to 3 significant figures.

cm*

(Total for Juestion 13 is 3 marks)
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4,



€12 Drizgram NOT
accurately dramm

A, B, D) and E are points on a circle
ABC and EDC are straight lines.

Prove that mangle BCD is similar to miangls EC4.
You omst give reasens for your working.

(Total for Question 12 is 5 marks)
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5.



M Steve has a8 photo and a rectangular piece of card.

Drspram NOT

15 em accurately dravn

¥

The photo is 16om by 10om.
The card is 30cm by 15cm

Steve culs the card along the doted line shonn in the diagram belom:

X I 4

15om

) cm

Steve throvs amway the plece of card that is 15 cm by yom.
The piece of card he has lefi is mathemarically similar to the photo.

Work out the valae of x.

(Total for Question 20 is 3 marks)
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6.



16 A company makes monsters.

The company makes small monsters with a height of 20 cm.

Height 200cm

L]

A small monster has a surface area of 300 cm?®.
The company also makes large monsters with a height of 120.cm.
A small monster and a large monster are mathermatically similar.

Work ouwt the surface area of a large monster.

___________________ _ cm?

{Total for Question 16 is 3 marks)
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7.



14 |n the diagram AB is parallel to CD.
AED and BEC are straight lines.

A B

W

E Mot to scale

C . n}

Prove that triangle ABE is similar to triangle CDE.
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8.

21

Toy building bricks are available in two sizes, small and larga.
The small and large bricks are mathematically similar.

Asmall brick has volume 8 cmﬂ'aru:l ;.'idlh 2.1cm.
Alarge brick has volume 15.625cm .

Calculate the width of a large brick.

—
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9.

12 The diagram below shows two right-angled triangles.

Mot to scale

10cm

=
Prove that triangles PQS and QRS are similar.
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10.

12 Two similar pyramids A and B have surface areas 180cm? and 80cm?2 respectively.

Pyramid A Pyramid B

The volume of pyramid A is 810cm?®.

Show that the volume of pyramid B is 240 cm?. [5]
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11.

27 A and B are similar solid cylinders.

base areaof A :base areaof B=9: 25

Complete these ratios.
[2 marks]

curved surface area of A : curved surface area of B =

height of A : height of B =
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12.

9 These two triangles are similar.

Mot drawn
accurately

20cm 16 cm

Work out the value of a.
[2 marks]

Answer cm

AQA GSCE - Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
13.

23 A and B are similar cuboids.
surface area of A surface area of B= 16 : 25

Work out  volume of A : volume of B

Circle your answer.
[1 mark]

4:5 16 : 25 64 : 125 256 : 625
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14.

22

PRT and QRS are similar triangles.

Which of these i3 equivalent to %?

Circle your answer.

RS
8T

Qs
PT

RT
RS

Mot drawn
accurately

[1 mark]
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15.
26 Two boxes are made with card.

The boxes are similar cuboids.

The smaller box has height 32 cm

It takes 44% more card to make the larger box.

Work out the height, &, of the larger box.
[4 marks]

Answer cm




